Part 3 — Solve the dllﬂ'ﬁzrzn.cz:s bk‘l converting .ﬁinst

. Mrs Chapman has a Hex} b,aq[ UF rice. She nses 2501}. How much is 12{Fi?

2. Mrs Silvester hos a i.Skq bm} ,U/F Pﬂ,sia. She uses 2504(}. How much is lz&i?

3. Mrs Jones has a |.5Jeq hxu% 34: ?Lmu!. She uses 360%. How munh.iﬁ lz{Ft?
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5. Miss Pettitt has a |.25k1% bm} mj: lentils. She nses 6#39{. How much is LEP:?
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Mrs Sim and Mrs Smith wzix}h
Lheir ﬂpplzﬁ thmi have brﬂuqhi
in {Fﬂr their anack. What is the

di{Fzerznme in their mass?

M.I’S CHE,PEI and Mrs Poole
mziqh their toddlers. What is the

diszznzm:z in their mass?




